ПЕРЕЛІК ПИТАНЬ ДО ЗИМОВОГО ЗАЛІКУ З ІНОЗЕМНОЇ МОВИ ДЛЯ 3 КУРСУ 2019-2020 Н.Р.

	№
п/п
	
Текст завдання
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	Rock is the hard material that most of the earth’s ____ is made up of. Mountains, coastlines, valleys and plains are made up of different kinds of rock. In some places soil lies over rock formations. They are often eroded and made smaller during the course of the earth’s history. Sometimes broken parts of rock lie on top of the earth’s surface. Tiny bits of them make up sand or soil.

	2.
	People use rocks for many different things. They play an important role in the construction industry. ____, for example, is made up of stones, sand and gravel and mixed with cement. Rocks are also used to make medicine, weapons and cosmetics. Various types of rock have been used to make historic monuments, like the ancient Egyptian pyramids.

	3.
	Rock that contains metals is called ore. Iron, copper, lead, gold, and uranium are among the most important ores. Aluminum is produced out of a rock called bauxite. Other rocks contain valuable minerals, like diamonds or other gems.
Ores are rocks

	4.
	Rock is formed, destroyed and reformed in a cycle. It breaks into pieces through erosion. These pieces settle down onto the floor of oceans and rivers and become sedimentary rock. When such rock sinks deeper and deeper it turns into metamorphic rock.
During the ages rock breaks into pieces

	5.
	Igneous rock is hot molten rock that comes from below the earth’s surface. It forms when magma comes to the surface from cracks in the Earth’s crust. When it emerges through pipes and erupts volcanoes are formed. Such rock hardens quickly when it cools down. Dark colored igneous rocks are called basalts. They are formed either on the ocean’s floor or where lava flows occur.
Igneous rock forms

	6.
	Geologists are scientists who study the origin and composition of rocks. This gives them more information on the history of our planet. Rocks can also reveal how life evolved and which events shaped the Earth and the solar system. 
The rock cycle shows

	7.
	Metamorphic rock is rock that changes through heat and pressure in the deeper layers in the earth. The minerals in these rocks are chemically changed. Granite for example is turned into gneiss. Limestone turns into marble and sandstone can turn into quartzite.
When sediments sink into deeper layers

	8.
	Sandstone and limestone are two of the most important and widespread sedimentary rocks. These sediments contain fossil fuels, like oil and gas. Limestone is made up of shells and skeletons of living things. It forms in shallow ocean water. The white cliffs of Dover are the most famous natural limestone areas on earth. Sandstone is made up of quartz that has been pressed over the ages. It is often white or yellowish.
Some rocks contain fossils

	9.
	Geologists are scientists who study the origin and composition of rocks. This gives them more information on the history of our planet. Rocks can also reveal how life evolved and which events shaped the Earth and the solar system. Geologists are scientists who study the origin and composition of rocks. This gives them more information on the history of our planet. Rocks can also reveal how life evolved and which events shaped the Earth and the solar system. 
Geologists study rock formations

	10.
	People use rocks for many different things. They play an important role in the construction industry. Concrete, for example, is made up of stones, sand and gravel and mixed with cement. Rocks are also used to make medicine, weapons and cosmetics. Various types of rock have been used to make historic monuments, like the ancient Egyptian pyramids.
Sandstone and limestone are often used:

	11.
	When rock is exposed to weather conditions it becomes subject to processes, such as freeze-thaw or solution weathering, that cause it to change and break down.
What is weathering?

	12.
	When rock is exposed to weather conditions it becomes subject to processes, such as freeze-thaw or solution weathering, that cause it to change and break down. The freeze-thaw weathering process is also known as frost shattering.
What is frost shattering? 

	13.
	Water - eg from rainfall or melting snow and ice - If the air temperature drops below freezing, the water will freeze and expand by 9-10 per cent putting pressure on the rock.
The ice will melt when the temperature rises above freezing.
If this process happens repeatedly, the rock will weaken and eventually shatter into angular fragments.
The fragments may then be deposited as scree at the foot of a slope.
It is most effective where the temperature fluctuates around 0°C, eg on north-facing high altitude slopes in Snowdonia.
becomes trapped in a crack or joint in the rock.
When is frost shattering most effective?

	14.
	Water - eg from rainfall or melting snow and ice - If the air temperature drops below freezing, the water will freeze and expand by 9-10 per cent putting pressure on the rock.
The ice will melt when the temperature rises above freezing.
If this process happens repeatedly, the rock will weaken and eventually shatter into angular fragments.
The fragments may then be deposited as scree at the foot of a slope.
It is most effective where the temperature fluctuates around 0°C, eg on north-facing high altitude slopes in Snowdonia.
What conditions are needed for frost shattering?

	15.
	Water - eg from rainfall or melting snow and ice - If the air temperature drops below freezing, the water will freeze and expand by 9-10 per cent putting pressure on the rock.
The ice will melt when the temperature rises above freezing.
If this process happens repeatedly, the rock will weaken and eventually shatter into angular fragments.
The fragments may then be deposited as scree at the foot of a slope.
It is most effective where the temperature fluctuates around 0°C, eg on north-facing high altitude slopes in Snowdonia.
What is frost shattering also known as?

	16.
	Water - eg from rainfall or melting snow and ice - If the air temperature drops below freezing, the water will freeze and expand by 9-10 per cent putting pressure on the rock.
The ice will melt when the temperature rises above freezing.
If this process happens repeatedly, the rock will weaken and eventually shatter into angular fragments.
The fragments may then be deposited as scree at the foot of a slope.
It is most effective where the temperature fluctuates around 0°C, eg on north-facing high altitude slopes in Snowdonia.
When is frost shattering becomes trapped in a crack or joint in the rock.
By how much does rock expand during frost shattering?

	17.
	limestone solution process is also known as carbonation.
Limestone is made of calcium carbonate. When carbon dioxide is dissolved in rainwater, it makes a weak acid called carbonic acid.
When carbonic acid comes into contact with limestone and passes through joints and bedding planes, it reacts with the rock to form calcium bicarbonate.
The calcium bicarbonate is soluble and is carried away in solution, gradually weathering the limestone.
What is the limestone solution process also known as?

	18.
	The limestone solution process is also known as carbonation.
Limestone is made of calcium carbonate. When carbon dioxide is dissolved in rainwater, it makes a weak acid called carbonic acid.
When carbonic acid comes into contact with limestone and passes through joints and bedding planes, it reacts with the rock to form calcium bicarbonate.
The calcium bicarbonate is soluble and is carried away in solution, gradually weathering the limestone.
What type of acid is involved in the weathering of limestone?

	19.
	The limestone solution process is also known as carbonation.
Limestone is made of calcium carbonate. When carbon dioxide is dissolved in rainwater, it makes a weak acid called carbonic acid.
When carbonic acid comes into contact with limestone and passes through joints and bedding planes, it reacts with the rock to form calcium bicarbonate.
The calcium bicarbonate is soluble and is carried away in solution, gradually weathering the limestone.
Limestone is prone to which weathering process?

	20.
	Water – e.g. from rainfall or melting snow and ice - If the air temperature drops below freezing, the water will freeze and expand by 9-10 per cent putting pressure on the rock.
The ice will melt when the temperature rises above freezing.
If this process happens repeatedly, the rock will weaken and eventually shatter into angular fragments.
The fragments may then be deposited as scree at the foot of a slope.
It is most effective where the temperature fluctuates around 0°C, e.g. on north-facing high altitude slopes in Snowdonia. When frost shattering becomes trapped in a crack or joint in the rock. 
Frost shattering produces which feature at the foot of the slope? 


	21.
	The Yorkshire Dales is one of the 15 national parks in the UK. A national park is a protected area because of the wildlife, countryside and heritage. It has a unique landscape, which attracts both visitors and wildlife. Where is the Yorkshire National Park?


	22.
	A national park's key aims are:
Conservation - to help conserve the area’s wildlife, landscape and cultural heritage.
Opportunity - to promote the understanding and enjoyment of the area by the public.
Community - to help strengthen the social and economic wellbeing of the local communities.
Which of the following is a key aim of a national park?



	23.
	The predominant rock is limestone (a type of sedimentary rock.). Other rocks, such as Millstone Grit, are more resistant to erosion and form some of the higher altitude areas.
Which type of rock is limestone?

	24.
	Areas of limestone pavement have been left (a large exposed platform of limestone with clints and grykes.). One forms an island in the centre of the quarry. The other is found to the south west. This retains some of the habitat for the wildlife. The quarry management team worked with the county council and the local community to retain and restore areas within the quarry. Community access was increased, so that the people could learn more about
What is a limestone pavement?

	25.
	Characteristics of limestone:
It is a sedimentary rock.
It was formed from the material on the tropical sea beds.
The rock contains shells and fossils - and is mainly made of calcium.
The rock is weathered chemically - carbonic acid in the rainwater dissolves the limestone, which is then removed in solution by water.
It is pervious but not porous.
What are pervious rocks?

	26.
	The freeze-thaw weathering process is also known as frost shattering. Water - eg from rainfall or melting snow and ice - becomes trapped in a crack or joint in the rock.
If the air temperature drops below freezing, the water will freeze and expand by 9-10 per cent putting pressure on the rock.
The ice will melt when the temperature rises above freezing.
If this process happens repeatedly, the rock will weaken and eventually shatter into angular fragments.
The fragments may then be deposited as scree at the foot of a slope.
It is most effective where the temperature fluctuates around 0°C, eg on north-facing high altitude slopes in Snowdonia.
Which of the following is an erosional landform associated with limestone?

	27.
	Walkers may disrupt livestock, damage dry stone walls or leave gates open.
How might walkers conflict with farmers in the Yorkshire Dales?

	28.
	Yorkshire Dales National Park Authority has housing development plans to build 230 new, affordable homes over the next 15 years. Develop railway lines, such as reconnection of Bolton Abbey to Skipton.
How is the Yorkshire Dales national park trying to solve the problem of increasing house prices?

	29.
	Benefits of quarrying
Money goes into the local economy through the creation of jobs and payment of rates to councils.
Helps to diversify the economy, to help the economy become more stable.
Potential for investment in local infrastructure.
The rock is extracted and is available to consumers.
What is one benefit of quarrying?

	30.
	Quarrying creates a scar on the landscape and is not a sustainable approach.
What is one problem associated with quarrying?

	31.
	Latitude
Lines of latitude circle the Earth in an east-west direction. They are parallel.
They are different lengths, eg:
the equator is 40,075 km long
the Antarctic circle is 17,662 km long
the South Pole is 0 km long
Which has the greatest length: the equator or the Arctic Circle?

	32.
	Important lines of latitude:
the equator (0°)
the Tropic of Cancer (23.5° north)
the Tropic of Capricorn (23.5° south)
the Arctic circle (66.5° north)
the Antarctic circle (66.5° south)
the North Pole (90° north)
the South Pole (90° south)
Which important line of latitude runs 23.5° north of the equator?

	33.
	Lines of longitude run from the top of the Earth to the bottom. They are not parallel as lines of latitude are - they meet at a point at the north and south poles and are called meridians.
Which of the following answers describes longitude?

	34.
	Longitudes divide the Earth into segments, like an orange. Some important details about these lines include:
The line which runs through Greenwich in London is called the Greenwich Meridian or Prime Meridian. The Prime Meridian is 0° longitude.
The Earth is then divided into 180° east and 180° west.
The International Date Line lies at 180° east/west.
Which important line of longitude runs through London?

	35.
	Lines of longitude run from the top of the Earth to the bottom. They are not parallel as lines of latitude are - they meet at a point at the north and south poles and are called meridians.
What is another name for lines of longitude?

	36.
	Because the world is a sphere, it is difficult to accurately project this on a two-dimensional map. When the world is flattened to fit on a piece of paper it is distorted. This makes some countries appear bigger than they are, compared to others, and the shape of land masses is changed slightly.
Why is it difficult to produce 2D maps?

	37.
	The world has seven continents and five oceans.
Europe is a continent. It is an area on the Earth that contains many different countries, including the UK. The United Kingdom of Great Britain and Northern Ireland is made up of England, Northern Ireland, Scotland and Wales. The countries are divided further into regions. Counties are smaller areas. For example the counties of Dorset, Gloucestershire, Wiltshire, Devon and Cornwall are all part of the South West region.
How many continents are there?

	38.
	The world has seven continents and five oceans. Europe is a continent. It is an area on the Earth that contains many different countries, including the UK. The United Kingdom of Great Britain and Northern Ireland is made up of England, Northern Ireland, Scotland and Wales. The countries are divided further into regions. Counties are smaller areas. For example the counties of Dorset, Gloucestershire, Wiltshire, Devon and Cornwall are all part of the South West region
Which of the following is a continent?

	39.
	The world has seven continents and five oceans. Europe is a continent. It is an area on the Earth that contains many different countries, including the UK. The United Kingdom of Great Britain and Northern Ireland is made up of England, Northern Ireland, Scotland and Wales. The countries are divided further into regions. Counties are smaller areas. For example the counties of Dorset, Gloucestershire, Wiltshire, Devon and Cornwall are all part of the South West region
Which countries make up the United Kingdom?

	40.
	The world has seven continents and five oceans. Europe is a continent. It is an area on the Earth that contains many different countries, including the UK. The United Kingdom of Great Britain and Northern Ireland is made up of England, Northern Ireland, Scotland and Wales. The countries are divided further into regions. Counties are smaller areas. For example the counties of Dorset, Gloucestershire, Wiltshire, Devon and Cornwall are all part of the South West region
Which of the following counties is in the south west of England?

	41.
	Metamorphic rocks have been subjected to tremendous heat and/or pressure, causing them to change into another type of rock. They are usually resistant to weathering and erosion and are therefore very hard-wearing.
Rocks that have been subjected to tremendous heat and/or pressure, causing them to change into another type of rock are called:

	42.
	Sedimentary rocks are formed from sediments that have settled at the bottom of a lake, sea or ocean, and have been compressed over millions of years. The sediment comes from eroded rocks carried there by rivers or ice, and from the skeletons of sea creatures.
Rocks that are formed from sediments that have settled at the bottom of a lake, sea or ocean are called:

	43.
	Igneous rocks are formed by magma from the molten interior of the Earth. When magma erupts it cools to form volcanic landforms. If magma cools inside the Earth it forms intrusive rock, which may later be exposed by erosion and weathering.
Which of the following is a characteristic of igneous rocks?

	44.
	Sedimentary rocks are formed from sediments that have settled at the bottom of a lake, sea or ocean, and have been compressed over millions of years. The sediment comes from eroded rocks carried there by rivers or ice, and from the skeletons of sea creatures.
Which of the following is a characteristic of sedimentary rock?

	45.
	Igneous rocks are formed by magma from the molten interior of the Earth. When magma erupts it cools to form volcanic landforms. If magma cools inside the Earth it forms intrusive rock, which may later be exposed by erosion and weathering. Examples of igneous rocks include basalt and granite.
Basalt is an example of which type of rock?

	46.
	Examples of metamorphic rocks include marble, which originates from limestone, slate, which originates from clay, and schists formed from sandstone or shale (sedimentary rocks).
Which metamorphic rock originates from limestone?

	47.
	Igneous rocks are formed by magma from the molten interior of the Earth. When magma erupts it cools to form volcanic landforms. If magma cools inside the Earth it forms intrusive rock, which may later be exposed by erosion and weathering.
Rocks like granite which are formed from magma are called?

	48.
	Examples of metamorphic rocks include marble, which originates from limestone, slate, which originates from clay, and schists formed from sandstone or shale (sedimentary rocks).
Slate is an example of which type of rock?

	49.
	Examples of metamorphic rocks include marble, which originates from limestone, slate, which originates from clay, and schists formed from sandstone or shale (sedimentary rocks).
Limestone is an example of which type of rock?

	50.
	Metamorphic rocks have been subjected to tremendous heat and/or pressure, causing them to change into another type of rock. They are usually resistant to weathering and erosion and are therefore very hard-wearing
 Which of the following is a characteristic of metamorphic rock?

	51.
	Quarrying was first used by early settlers in Britain for building stone and extracting metals for weapons. It continues as an industry that involves the extraction of rocks like limestone and slate.
When was quarrying first used in the UK?

	52.
	Quarrying creates jobs in areas where there are limited opportunities. There is a huge demand for the products of quarrying, such as building stone and cement. This is linked to the demand for new homes in the UK.
What products are quarried in the UK?

	53.
	Dinmor Parc Quarry is in Anglesey, North West Wales. It is in an area of outstanding natural beauty. The quarry closed in the early 1980s and afterwards the mining company helped to landscape the area so it blended with the coastal setting. The area was stabilised and the quarry floor prepared with small stones to encourage wildlife to return. To help maintain the economy for the community a fish farm was also created and this provided jobs.
Which of the following are example(s) of quarry restoration in the UK?

	54.
	Areas of limestone pavement have been left (a large exposed platform of limestone with clints and grykes.). One forms an island in the centre of the quarry. The other is found to the south west. This retains some of the habitat for the wildlife. The quarry management team worked with the county council and the local community to retain and restore areas within the quarry. Community access was increased, so that the people could learn more about the wildlife and geology of the area.a natural limestone formation. 
What is a limestone pavement?

	55.
	Holme Park
Holme Park quarry is a limestone quarry that has been quarried for over 50 years. Within and close to the area there are sites of special scientific interest (A designated area in the UK which is protected.).
What is a site of special scientific interest?

	56.
	Quarrying creates jobs in areas where there are limited opportunities. There is a huge demand for the products of quarrying, such as building stone and cement. This is linked to the demand for new homes in the UK. Quarrying provides income to local councils through taxation. Good communications are needed for transporting the products of quarrying. As a result many remote rural areas benefit from improved access. It is an important part of the UK economy. Over 30,000 people are employed in quarrying itself and related industries.
Which of the following is an advantage of quarrying?

	57.
	Wildlife habitats are destroyed. Valuable agricultural land is taken away. Quarrying creates pollution from noise and dust. Heavy traffic causes pollution and congestion on narrow country roads. The vibrations from heavy traffic can cause damage to buildings. Quarries create visual pollution and tourists may be deterred by the scars on the landscape. Landfill sites and waste tips need to be monitored to check for a build up of gases, such as methane. Limestone is a non-renewable resource - so it can be argued that quarrying is unsustainable. 
Which of the following is a disadvantage of quarrying?

	58.
	To reduce lasting visual pollution, landscaping and tree planting could take place when the quarry is exhausted. Screens could also be set up around working quarries. Restrictions on the size of quarries and working hours could cut down on visual and noise pollution. Rail could be used to transport the quarried rock where possible. 
Which of these is NOT a way to reduce the impact of quarrying?

	59.
	The management of quarries can be encouraged to be more sustainable during and after quarrying. The quarrying company is expected to restore or improve the quarry site after they have extracted the rock. Measures can be put in place to enable this to happen in a more sustainable way.
Quarry restoration can take place. Areas that have already been quarried can be restored while works go in other areas of the quarry.
Quarry restoration is:

	60.
	Disused quarries could be used as car parks. Flooded quarries can be used for water sports for the benefit of tourists and the local economy. Nature reserves and conservation areas can be reinstated in the landscape when a quarry is exhausted.
After the rock has been extracted, a quarry can be used as:

	61.
	Igneous rock forms_____.

	62.
	_____ is a fire that starts as a result of smoldering coal.

	63.
	_____ is an industrial facility that generates electricity from primary energy.

	64.
	_____ are hydrocarbons, primarily coal, fuel oil or natural gas, formed from the remains of dead plants and animals.

	65.
	_____ is the process of constructing a building or infrastructure.

	66.
	_____ is the process of producing food, feed, fiber and many other desired products by the cultivation of certain plants and the raising of domesticated animals (livestock).

	67.
	_____ are solid substances that are present in nature and can be made of one element or more elements combined together (chemical compounds).

	68.
	_____ is any material of natural or synthetic origin (other than liming materials) that is applied to soil or to plant tissues to supply one or more plant nutrients essential to the growth of plants.

	69.
	_____ is a name that is usually used in reference to four types of gems: diamonds, rubies, sapphires, and emeralds.

	70.
	A diamond is a type of ______.

	71.
	Gold is a type of _____.

	72.
	____ are often burnt to generate energy.

	73.
	The rock contains many types of _____.

	74.
	_____ is a black substance which can be burnt.

	75.
	_____ is a very strong metal used in construction.

	76.
	The company built a factory which generates energy. 
Write a word or phrase that is similar in meaning to the underlined part.

	77.
	Rita studies the art of raising crops and livestock at college.
Write a word or phrase that is similar in meaning to the underlined part.

	78.
	The farmer put minerals which make healthy soil on his field before planting the seed.
Write a word or phrase that is similar in meaning to the underlined part.

	79.
	Mines provide a lot of materials for the industry of making products.
Write a word or phrase that is similar in meaning to the underlined part.

	80.
	Benny has a lot of experience working in an industry that builds structures.
Write a word or phrase that is similar in meaning to the underlined part.

	81.
	_____ is small, round stones.

	82.
	_____ is a dark, thick oil.

	83.
	_____ is a clear stone which is very hard and valuable.

	84.
	_____ is a white or grey mineral, often added to soil.

	85.
	_____ is very small pieces of rock, often found on beaches.

	86.
	_____ is a white powder containing potassium.

	87.
	The fire was a vengeful act of _____.

	88.
	Find the synonym to the word «immense».

	89.
	Which of the following is NOT a precious metal?

	90.
	Which is the most common type of metal?

	91.
	What is true about stainless steel?

	92.
	_____ is a precious metal that is often yellow.

	93.
	_____ is a base metal that is red. 

	94.
	_____ is a type of radioactive metal.

	95.
	Sandstone and limestone are often used _____.

	96.
	_____ is  a toxic base metal that is white. 

	97.
	_____ is a type of metal that contains iron. 

	98.
	_____ is  a type of metal that is radioactive .

	99.
	_____ is a precious metal that is white.

	100.
	Find nonmetals.

	101.
	The _____ deposit contains low-grade coal.

	102.
	A _____ contains sand and gravel.

	103.
	What difference is there between the composition of Lava and Magma?

	104.
	Which type of magma is most likely to erupt effusively from a shield volcano?

	105.
	An igneous rock that is fine-grained or glassy must have _____.

	106.
	Water has the power to split rocks because when it freezes, it _____. 

	107.
	Chemical weathering is most likely to take place in environments that are _____.

	108.
	In which type of environment would you be most likely to observe Biological weathering?

	109.
	In which type of environment would you be most likely to observe wind erosion?

	110.
	Most erosion by the sea results from the action of _____.

	111.
	What happens to the porosity of sediments during cementation?

	112.
	_____ is mining by piping water down a vertical hole.

	113.
	_____  is excavating a river or sea bed.

	114.
	_____  is using high pressure water to remove deposits.

	115.
	Igneous rocks like granite are often used for street paving and kerb stones in city centers because _____ 

	116.
	_____ is drilling into the steep wall of a quarry.

	117.
	What is the approximate age of the oldest oceanic crust.

	118.
	Igneous rocks that form from magma are known as _____.

	119.
	Cirrus clouds are _____.

	120.
	The layer that separates crust from core is the _____.





